Appendix: Tables

Table A.1. Means and standard deviations of control variables

Mean Standard-dev.
Math grade 6.63 1.07
GPA 6.89 0.62
Math relative 0.37 0.26
Math difficulty 3.80 2.80
Math quartile 2.12 0.96
Guessed rank 2.35 0.94
Risk 6.23 1.90

Lottery 3.22 1.32
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Appendix: Instructions and Questionnaire

WELCOME

In the experiment today you will be asked to complete three different tasks. None of these will take
more than 3 minutes. At the end of the experiment, we will randomly select one of the tasks and pay
you based on your performance in that task. Once you have completed the three tasks we determine
which task counts for payment by rolling a die. The method we use to determine your earnings
varies across tasks. Before each task we will describe in detail how your payment is determined.

Task 1 — Piece Rate

For Task 1 you will be asked to calculate the sum of four randomly chosen two-digit numbers. You
will be given 3 minutes to calculate the correct sum of a series of these problems. You cannot use a
calculator to determine these sums, however you are welcome to make use of the provided scratch

paper.

Example:

23 81 15 47

If Task 1 is the one randomly selected for payment, then you get 25 cents per problem you solve
correctly in the 3 minutes. Your payment does not decrease if you provide an incorrect answer to a
problem. We refer to this payment as the piece rate payment.

The problem sheets are in the envelopes in front of you. We will tell you when you can open the
envelopes and start working. You will then have exactly 3 minutes. At the end of the three minutes
we will say “Time’s up”. You then have to immediately stop writing and stand up. If you don’t stand
up or keep writing, you will not get paid.

Please do not talk with one another for the duration of the experiment. If you have any questions,
please raise your hand.

ARE THERE ANY QUESTIONS BEFORE WE BEGIN?



Task 2 - Tournament

As in Task 1 you will be given 3 minutes to calculate the correct sum of a series of four 2-digit
numbers. However for this task your payment depends on your performance relative to that of a
group of other participants. Each group consists of four people, the three other members of your
group are randomly selected members of your class. You will not know who is in your group.

If Task 2 is the one randomly selected for payment, the individual in the group who correctly solves
the largest number of problems will receive €1 per correct problem. The other participants receive
no payment. We refer to this as the fournament payment. You will not be informed of how you did
in the tournament until later. If there are ties the winner will be randomly determined.

Please do not talk with one another. If you have any questions, please raise your hand.

ARE THERE ANY QUESTIONS BEFORE WE BEGIN?



Task 3 — Choice

As in the previous two tasks you will be given 3 minutes to calculate the correct sum of a series of
four 2-digit numbers. However you will now get to choose how you want to be payed: piece rate or
tournament.

If Task 3 is the one randomly selected for payment, then your earnings for this task are determined
as follows. If you choose the piece rate you receive 25 cents per problem you solve correctly. If you
choose the fournament your performance will be compared to the performance of the other three
participants of your group in Task 2. Task 2 is the one you just completed. If you correctly solve
more problems than they did in Task 2, then you receive four times the payment from the piece rate,
which is €1 per correct problem. You will receive no earnings for this task if you choose the
tournament and do not solve more problems correctly now, than the others in your group did in Task
2.

You will not be informed of how you did in the tournament until later. If there are ties the winner
will be randomly determined.

Please do not talk with one another. If you have any questions, please raise your hand.
Please indicate below which payment scheme you choose: piece rate or tournament.
ARE THERE ANY QUESTIONS BEFORE WE BEGIN?

Make your choice:

Piece rate

Tournament

Name:




Answer:

Name:

Round 1
67 87 29 24
75 59 32 32
59 24 95 11
19 10 29 74
80 12 70 56
31 17 21 23
38 91 26 92
21 88 99 46
96 99 76 86
74 56 94 37
71 33 34 28
23 68 84 66
35 60 97 15

Version 1



19 25 40 30
23 24 41 52
28 94 87 92
83 73 23 85
17 33 49 79
43 50 34 15
44 60 90 90
a7 97 57 62
29 35 77 36
42 65 60 45
54 12 80 10
89 88 67 84
89 49 98 99
64 52 20 27
21 55 58 13
68 83 64 13

Version 1



Name:

Birth date:

School:

Gender:

This question is about your performance in Task 2 (the tournament task). What do you think
was your rank within the group in terms of sums solved correctly. Please choose a number
from 1 (meaning that you were the best in your group of four) to 4 (meaning that you were
the 4th in your group of four). If your guess is correct, you receive €1.

1 2 3 4

In this part, you can earn money with your choices. You will have to choose between
lotteries. Each lottery gives you a high amount of money with a 50% probability and a lower
amount with a 50% probability. The roll of a die will then determine whether you get the high
or the low payoff. We will roll the die in front of your eyes at the end of the experiment.

Please pick one of the following five options:

€3.50 with a €4 with a 50% €5 with a 50% €6 with a 50%
50% chance chance chance chance

€ 2 for certain
€1.50 with a €1 with a 50% €0.50 with a €0 with a 50%

50% chance

chance

50% chance

chance

How do you see yourself: Are you generally a person who is fully prepared to take risks or do
you try to avoid taking risks?
Please tick a box on the scale, where the value 0 means: ‘unwilling to take risks’ and the
value 10 means: ‘fully prepared to take risk’.

0 1

2

3

4

5

L] el e[ ol




Which track do you think you will pick this summer?

ES

NT

NH

CS

Do you plan to study at a university in the future?

Yes

No

If yes, which topic will you most likely pick?

How difficult do you think it would be for you to pass mathematics track B. Please answer on
a scale from 0 to 10 where 0 means very easy and 10 means very difficult

0 1 2 3 4 5 6 7 8D 9 éD

We would like to know from you which track you think the smartest students in your class will
pick. Please order the order the four tracks from 1 to 4 whereby you assign 1 to the track
which you think the smartest students will choose and 4 to the track the least smart students
will choose.

ES

NT

NH

cs | |




With which profile do you think you would earn most in ten year's time? Rank the profiles
from 1 to 4 where 1 means that you would earn most if you chose that profile and 4 that you
would earn least if you chose that profile

ES

NT

NH [ ]

CS

What was your Cito score?

Do you think your mathematics ability is:

... in the top 25% of your school? Yes No
...in the top 50% of your school? Yes No
....in the top 75% of your school? Yes I:I No I:'

Do you agree or disagree with the following propositions:
1 Agree strongly

2 Agree

3 Neither agree nor disagree

4 Disagree

5 Disagree strongly

Boys are better at maths than girls

S e O R I R

Girls are better at languages than boys

S e O R I R




Boys are better at sciences than girls

S R O R I R

A pre-school child is likely to suffer if his or her mother works

v 2l sl 4] s ]

A working mother can establish just as warm and secure a relationship with her children as a
mother who does not work

1 2 3 4 5

In general, fathers are as well suited to look after their children as mothers

S e B O I ) I R

Both the husband and wife should contribute to household income

S e B O I R I R

Having a job is the best way for a woman to be an independent person

S e O R I R




